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B# | DL | £ % Fall BB ik REAA | COP Datum
L tyze% | NS | EW | 23zu3% [ NS | EW | #1 | #13 | #1 [#13] #1 [#13]| Mean | Ns EW
21 N NS 4SW5 450 4SW5 450 EW410 -1 1
22 | E | EW 3SN-2 100 2SN-1 50 50 2 EW70 -1 -1
23 | S |(Both 4SW6 680 4SW6 680 EW710 1 -1
24 | W (None 3NE4 430 3NW-3 150 580 1 EW190 -6 -8
25| N | EW 6SE6 1430 6SE6 1430 EW830 -12 12
26 | E |Both 3CS-1 100 2SW2 110 10 EW70 -1 1
27 | S [None 5HXE-2 300 3HE3 140 440 10 NS120 5 6
28 | W | NS 3NS4 630 3NS4 630 NS540 3 -3
29 | N (Both 4HN5 650 4HN4 620 30 1 NS540 3 -2
30 | E [None 4SS-1 50 3SS4 170 220 6 NS210 -6 1
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B# | DL | £ % Fall BB ik REAA | COP Datum
[ 2mzg» [ Ns [ EW | 523 | NS | EW | #12 | #14 |#12[#14|#12[#14 || Mean | NS | EW
21| N [ NS 4SW5 450 4SW5 450 EW410 | -1 1
22| E |EW| 3SN-2 100 3HW3 140 | 40 1 EW70 | -1 2
23| S (Both| 4sW5 650 6CE6 1370 | 720 12 EW710 | 2 12
24 | W [None|  3NE3 400 3NW-2 100 500 1 EW190 | -5 -7
25| N [EW| 3NWé 690 3NE6 690 EW830 | 4 -4
26 | E [Both| 3NS-2 200 3Cs-1 100 100 3 EW70 | -4 1
27 | S [None|  4CN5 150 4HE-1 50 100 3 NS120 | 1 2
28 | W | NS 3NS4 630 3NS4 630 NS540 | 3 -3
29 | N [Both|  4HN4 620 4HN4 620 NS540 | 2 -2
30 | E [None|  4sS4 420 4ss-1 50 | 470 10 NS210 | 5 6
B3 IMP| 26 | 14 6 8
Ry 12 A 14 Catchall
* B NP 26 14
&3 INP 26 14 ,
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B# | DL | £ & cH3 Mz ik REAA | COP Datum
" 2rmzms | NS | EW | 25z%% | NS | EW | #3 | #7 | #3 ] #7 | #3 | #7 || Mean | Ns | EW
21| N | NS 4SE5 450 4SW5 450 EW410 | -1 1
22| E |EW| 4HW-a1 | 100 2HW4 170 | 270 7 EW70 | 5 3
23| S |Both| 4sws 650 4SW5 650 EW710 | 2 -2
24 | W |None|  3NW4 430 3NW-2 | 100 530 11 EW190 | -6 7
25| N |EW| 6SE6 1430 6SE6 1430 EW830 | -12 | 12
26 | E |Both| 3sw-2 | 200 2sW2 110 | 310 7 EW70 | 7 1
27 | S |None[  1NN-2 100 4HE-1 50 150 4 NS120 | -6 2
28| W | NS | 6ss 100 3NS3 600 700 12 NS540 | -12 -2
29 | N |Both|  5HN-1 100 4HN4 620 720 12 NS540 | -12 -2
30 | E |None| 4sS-1 50 3NS-1 50 NS210 | -6 6
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EW +z BEHp(FO a e EW #®9 2 3E4&(HF0)
B# | DL | £ % Fall BB ik REAA | COP Datum
" 2smsmx | Ns | EW | 2525% | NS | EW | #4 | #8 | #4 | #8 |#a | #8 || Mean | Ns | EW
21| N | NS 4sW5 450 4sW5 450 EW410 | -1 1
22| E | EW 3SN-1 50 2SN-1 50 EW70 | 1 -
23| S |Both| 4SW5 650 4sW5 650 EW710 | 2 -2
24 | W |None|  3NE4 430 3NW-2 100 530 1 EW190 | -6 7
25| N | EW 6SE-1 100 6SE-1 100 EWS830 | 14 14
26 | E |Both| 3CS-1 100 3CS-1 100 EW70 | -1 1
27 | S |None] 5CXN5 550 5CXN5 550 NS120 | 10 -10
28 | W | NS 4ss4 620 3NS4 630 10 NS540 | 2 -3
29 | N |Both|  4HN4 620 4HN4 620 NS540 | 2 -2
30 | E |None| 4ss4 420 4SS5 450 30 1 NS210 | 5 -6
w3 IMP 12 28 | -43
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B# | DL | £ % Fall BB ik REAA | COP Datum
Y= H2%% | NS | EW | ¢%233% | NS | EW | #5 | #6 | #5] #6 | #5| #6 || Mean | NS EW
21| N | NS 4SW5 450 4SW5 450 EW410 -1 1
22| E | EW 3SN-3 150 3SN-1 50 100 3 EW70 -2 -1
23 | S |Both 4SW5 650 6SW-1 100 750 13 EW710 2 -13
24 | W |None 3NE3 400 3NW3 400 EW190 -5 5
25| N | EW 6SE-1 100 4SE6 680 780 13 EW830 14 -4
26 | E |Both 3Cs-1 100 28W2 110 10 EW70 -1 1
27 | S |None 4HE-1 50 4CXN5 610 560 11 NS120 -2 -10
28 | W | NS 4SXS5 990 3NS4 630 360 8 NS540 10 -3
29 | N |Both 4HN4 620 4HN5 650 30 1 NS540 2 -3
30 | E |None 4SS4 420 38S4 170 250 6 NS210 5 1
#3 INP) 27 |28 22 | -26
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B# | DL | £ % Fall BB ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #9 | #11 | #9 [#11] #9 [#11|] Mean NS EW
21| N | NS 4SW6 480 6SW-1 50 530 1 EW410 -2 -10
22 | E | EW 2SN2 110 3HW3 140 250 6 EW70 5 2
23 | S |Both 4SW5 650 6CE6 1370 | 720 12 EW710 2 12
24 | W |None 3NW-2 100 3NE4 430 530 1 EW190 7 6
25| N | EW 6SE6 1430 6SE-1 100 1530 17 EW830 -12 -14
26 | E |Both 1NS2 120 3CS-1 100 220 6 EW70 5 1
27 | S |None 3HE3 140 3HE3 140 NS120 -6 6
28 | W | NS 3NS5 660 4SS4 620 40 1 NS540 3 -2
29 | N |Both 5HN5 650 4HN4 620 30 1 NS540 3 -2
30 | E |None 4SS4 420 4S8S-1 50 470 10 NS210 5 6
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* tyzx% | NS | EW | 29223 | NS | EW | #2 | #10 | #2 [#10] #2 [#10||] Mean | NS EW
21| N | NS 4SW5 450 4SW5 450 EW410 -1 1
22| E | EW 2HW3 140 2HW3 140 EW70 -2 2
23 | S |Both 3NE5 660 5HXN-3 800 140 4 EW710 2 3
24 | W |None 5DW-2 100 3NE4 430 530 1 EW190 7 6
25| N | EW 6SE6 1430 6SE6 1430 EW830 -12 12
26 | E |Both 3CS-1 100 3CS-1 100 EW70 -1 1
27 | S |None 4HXE4 590 5CXN5 550 1140 15 NS120 -12 -10
28 | W | NS 3NS4 630 5SN-2 200 830 13 NS540 3 12
29 | N |Both 4HN4 620 2NS4 180 440 10 NS540 2 8
30 | E |None 3NN3 400 4SS4 420 20 1 NS210 5 -5
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B# | DL | £ % MEZ g ik REAA | COP Datum
* txzex | NS | EW | 5223 | NS | EW | #13 | #1 [#13] #1 [#13] #1 Mean NS EW
21| N | NS 4SW5 450 4SW5 450 EW410 -1 1
22 | E | EW 2SN-1 50 3SN-2 100 50 2 EW70 1 1
23 | S |Both 4SW6 680 4SW6 680 EW710 1 -1
24 | W |None 3NW-3 150 3NE4 430 580 1 EW190 8 6
25| N | EW 6SE6 1430 6SE6 1430 EW830 -12 12
26 | E |Both 2SW2 110 3CS-1 100 10 EW70 -1 1
27 | S |None 3HE3 140 5HXE-2 300 440 10 NS120 -6 -5
28 | W | NS 3NS4 630 3NS4 630 NS540 3 -3
29 | N |Both 4HN4 620 4HN5 650 30 1 NS540 2 -3
30 | E |None 3884 170 4S8S-1 50 220 6 NS210 -1 6
B3 IMP| 19 | 11 6 | 15
) 2 X e
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EW ®&m sfeg(R0) a e EW #%% 318 ¥(FO
B# | DL | £ % MEZ g ik REAA | COP Datum
[ 2mzg» [ Ns [ EW | e523% | Ns | EW | #14 | #12 |#14[#12|#1a[#12|| Mean | NS | EW
21| N | Ns| 4sws 450 4SW5 450 EW410 | -1 1
22| E [EW| 3HW3 140 | 3sN-2 100 40 1 EW70 | -2 1
23| S |Both| 6CE6 1370 [ 4sws 650 720 12 EW710 | 412 | -2
24| W |None| 3NW-2 | 100 3NE3 400 | 500 1 EW190 | 7 5
25| N |EW| 3NEe 690 3NWE 690 EW830 | 4 -4
26 | E |Both| 3CS-1 100 | 3Ns-2 200 | 100 3 EW70 | -1 4
27| S |None|  4HE-1 50 4CN5 | 150 100 3 NS120 | -2 4
28| W|NS| 3Ns4 | 630 3NS4 | 630 NS540 | 3 3
20| N |Both| 4HN4 | 620 4HN4 | 620 NS540 | 2 2
30 | E |None| 4sS-1 50 ass4 | 420 470 10 Ns210 | -6 5
B3 INP| 14 | 26 8 | -6
B> 14 Catchall 12 oA
* B NP 14 26
&3+ IMP 14 26 »
2 3VP 6.00 14.00
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EW 5% 3542 (R0) apie EW $l&i ¥5&%(PO0)
B# | DL | £ % MEZ g ik REAA | COP Datum
* tyzes | NS | EW | 29223 | NS | EW | #7 | #3 |[#7 [ #3|#7|#3 || Mean | NS EW
21| N | NS 4SW5 450 4SE5 450 EW410 -1 1
22| E | EW 2HW4 170 4HW-1 100 270 7 EW70 -3 -5
23 | S |Both 4SW5 650 4SW5 650 EW710 2 -2
24 | W |None 3NW-2 100 3NW4 430 530 1 EW190 7 6
25| N | EW 6SE6 1430 6SE6 1430 EW830 -12 12
26 | E |Both 2SW2 110 3SW-2 200 310 7 EW70 -1 -7
27 | S |None 4HE-1 50 1NN-2 100 150 4 NS120 -2 6
28 | W | NS 3NS3 600 6SS-1 100 700 12 NS540 2 12
29 | N |Both 4HN4 620 5HN-1 100 720 12 NS540 2 12
30 | E |None 3NS-1 50 4SS-1 50 NS210 -6 6
#3+ INP|39 |14 A2 | 41
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* B IMP 39 14
&3+ 1P 39 14 s
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B# | DL | £ % MEZ g ik REAA | COP Datum
" 25232 [ Ns [ EW | 25z2x | Ns | EW | #8 | #4 | #8] #4 | #8 | #4 || Mean | Ns | EW
21| N | NS 4SW5 450 4SW5 450 EW410 | -1 1
22| E|EW| 2SN-1 50 3SN-1 50 EW70 | 1 -1
23| s |Both| 4sws 650 4SW5 650 EW710 | 2 -2
24 | W |None|  3NW-2 100 3NE4 430 | 530 11 EW190 | 7 6
25| N |EW| 6SE- 100 6SE-1 100 EWS30 | 14 -14
26 | E |Both| 3CS-1 100 3CS-1 100 EW70 | -1 1
27 | S |None] 5CXN5 | 550 5CXN5 | 550 NS120 | 10 -10
28| W | NS 3NS4 630 4sS4 620 10 NS540 | 3 -2
29 | N |Both|  4HN4 620 4HN4 620 NS540 | 2 -2
30 | E |[None|] 4ss5 450 4s84 420 30 1 NS210 | 6 -5
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EW =#x 24# (B0) a e EW &g = 2(FC)
B# | DL | £ % MEZ g ik REAA | COP Datum
" 2mz2s [ NS | EW | 29z2% | NS | EW | #6 | #5 | #6 ] #5 | #6 | #5 || Mean | Ns | EW
21| N | NS 4SW5 450 4SW5 450 EW410 | -1 1
22| E |EW| 35N+ 50 3SN-3 150 | 100 3 EW70 | 1 2
23| S |Both| 6sW-1 100 4SW5 650 | 750 13 EW710 | 13 -2
24 | W [None]  3NW3 400 3NE3 400 EW190 | -5 5
25| N | EW 4SE6 680 6SE-1 100 780 13 EW830 | 4 A4
26 | E |Both| 2sw2 110 3CS-1 100 10 EW70 | -1 1
27| S |None] 4CXN5 | 610 4HE-1 50 560 11 NS120 | 10 2
28 | W | NS 3NS4 630 4SXS5 | 990 360 8 NS540 | 3 10
29 | N [Both| 4HN5 650 4HN4 620 30 1 NS540 | 3 -2
30 | E [None] 3sS4 170 4ss4 420 250 6 NS210 | -1 5
@3+ IMP| 28 |27 26 | -22
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B# | DL | £ % MEZ g ik REAA | COP Datum
Y[ 2mz2s [ NS [ EW | 2925% | NS | EW | #11 | #9 [#11] #9 |#11] #0 || Mean | Ns EW
21| N | NS 6SW-1 50 4SW6 480 530 11 EW410 10 2
22| E | EW 3HW3 140 2SN2 110 250 6 EW70 -2 -5
23 | S |Both 6CE6 1370 4SW5 650 720 12 EW710 | -12 -2
24 | W |None 3NE4 430 3NW-2 100 530 11 EW190 -6 -7
25| N | EW 6SE-1 100 6SE6 1430 || 1530 17 EW830 14 12
26 | E |Both 3Cs-1 100 1NS2 120 220 6 EW70 -1 -5
27 | S |None 3HE3 140 3HE3 140 NS120 -6 6
28 | W | NS 4SS4 620 3NS5 660 40 1 NS540 2 -3
29 | N |Both 4HN4 620 5HN5 650 30 1 NS540 2 -3
30 | E |None 4SS-1 50 4SS4 420 470 10 NS210 -6 -5
#®3t IMP| 28 |47 -5 | -10
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B# | DL | £ % MEZ g ik REAA | COP Datum
Y[ 2mz2s [ NS [EW | 2922% | NS | EW | #10 | #2 |#10] #2 [#10] #2 || Mean | Ns EW
21| N | NS 4SW5 450 4SW5 450 EW410 -1 1
22| E | EW 2HW3 140 2HW3 140 EW70 -2 2
23 | S |Both 5HXN-3 800 3NE5 660 140 4 EW710 -3 -2
24 | W |None 3NE4 430 5DW-2 100 530 1 EW190 -6 -7
25| N | EW 6SE6 1430 6SE6 1430 EW830 -12 12
26 | E |Both 3CS-1 100 3CS-1 100 EW70 -1 1
27 | S |None 5CXN5 550 4HXE4 590 | 1140 15 NS120 10 12
28 | W | NS 5SN-2 200 3NS4 630 830 13 NS540 -12 -3
29 | N |Both 2NS4 180 4HN4 620 440 10 NS540 -8 -2
30 | E |None 4S5S4 420 3NN3 400 20 1 NS210 5 -5
@3+ IMP| 16 | 38 30 | 9
s 10 Dragonite 2 ¥
+ B IMP 16 38
£ 3 INP 16 38 »
2 H-VP 3.61 16.39




